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Instructions forthe Candidates :
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l. fufl srRqr fi{ yftir*r q ddlDo not open answer book tifl ordered.

:

sf,{ Yts q{ f{4 q{ prya q{.Ysrvfr qc+ 6FT t {z rq{ qVPlease fitt in the sel number on the ansnrer sheett'

I|€ 2 c{ f{cr qrd *gTH T$. q.d * frt Edqrd f*..qr qr *EifT *rspace irrovided on page 2 maybe used for
Rough Work. 
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I

qfrqr s-qlR di qE sr{ SRREI erc+ dfi Ys *'qrq f+tqh''qi srcs 6vAfterthe termination of tes-t please
retum the question booklet along with the ansr,rier sheet to the tnvigilator.

8. q6 {*tr st f*. €[rq-*i wS sfi rt? *r vr< ge fuor *.rptease enslre it ut you have got the erlrect question -

paper and answer sheet.

1 Instructionsforlnvigilation Board :
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2. gFI vx d qrt qFr * r qrfi rWr erFsrd tleuesgion paper consists of FOUR parts (Fart I to part tV).
Allpartsare COMPULSORY. 

#;

3. qql esl e{hErd *Ail questions are COMF 
' I

:'Hh$ct''{
4. strt 5F€ql d +ri S tql fr$n n er{ |gtrfqTq+l'c&H d Fd-fi * | tqr cri qr+ c{ qrr*i srdrq sifu trq

vfiqypo notwriteany revealing'genfiffifion intheanslrershbet. Such candidatqswiltbeplSetIAUneO.

1. PresidingOfficerwillannouncethesetnumderofthequestfonbdperadrninisteredafterctistributingthe
question paper and will ensure that allthe candioates nave -tiot t\e reguired set number.'\ -

2' Invigilation Board is to ensure that all candidates comply $nnn tnu above instructions and the instrudionsgiven in theAnswerSheet. ' 
i

3' All the Instruclions along with way of answering in the ansyer sheet will be explained to the candidates.
.1
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qFT. I

Part -l
TITTTTq FTT

GENERAL KNOWLEDGE

(b)

(d)

sgfawgi:
Choose the correct answer :

1. q{n g{w.R E-q {5 t+.q rrq qr ?

When was the Arjuna Award started ?

(a) 1952

(c) 196s

2. qrtt d ffsd Yhn q.t q( rtsr t :

The number of Union Territories in India is ......'.."""""""'

1961

E{i t dri rd/none of these

(b) 8

i,(O Fi't *ti rfr/ttone of these

tl

(10 x 4 = 40 siqlMarks)

'{a) 7

(c) e

s qrd-q ffiem t tfitdl *)c t z

Who drafted the Indian Constitution ?

(a) gcssrs/TusliDas
(c) q{ER/SoorDas

ffi-d q{ fe-{ d iYil i ERnR fe-i i'

' \,g; ordcm/KatiDas

. 1o; qr-d+1/Valmiki

-\

(b) lTRE-qqilndia-Pak

1O1 w*.-*-t/Pak-China

(a) ft-c qqr6{end ias/pandit Jawaharlal Nehru (b) Ei *q {rs +rqs*-t/Dr. Bhim Rao Ambedkar

_ *JTffiTIH#.,*, $##ffi3oneo*h
Which river is called 'Salt River'?

(a) riffi/16e Godavari ' (b) qfrffhe Luni

(c) gwrdThe Krishna (d) F{C t ei$ =r$/ruone of these

5. rrrFrn qerfri ET qq *Prn +-a * ?

Where is the Birth place of Lord Mahavird ? \

(a) ctztd$/patliputra \ {u) ffilvaisnati
(c) sfTtr{e/Kapilvastu (d) E-{q t an€ +d/None of these

o.'rgqvt'nn+.gw* iffitr;
The book'Raghuvansha' was written by' :...........'.-''\'

7.

Which two countri€s signed the Panchsheel agreement ?'

8.

\ (a) qFd-*dlndia-china

(c) qRn-iq€/lndia-Nepal

sfue Eqir{d <{'trg q-di q istra * z

Where the famous Hazratbal Mosque (Dalgaha) is situated ?

1a) frtrf,tlshimla
(c) aoijlqt6handigarh 

I

9. f6€ wei *1 '+T{E q['R' +1{rfi q-ar qra/t I
Which City is known as the 'Queen of Ara{an Sea'?

(a) e1fuqlCochin

(c) 5w{/P1ut5",

*+nlSrinagar
F{i n 6E r$/trlone of these

ffidBangalore
5"t/Pune

(b).

(d)

lol
(d)

L.
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10. Eqi *.I q6ai{r qa t e

Where is the Tomb of HumaYun ?

(a) orru/Agna

(q qftugi/ghatinda

(b)

(d)

ffi/oeltri
e$r<sf1u16,"n"

qm- ll
Pafi - ll

rilftffiF{flr
PHYSICS

sfifaaeugi;
Ghoose the coffect answer :

rt. qm Rqc at qe * sct *f n*A +,
A red dbbon ptaced in green lQht willlook'

(15x4=60rr+'/Marks)

. (a) *r$/gtack (b) etVcreen

(c) drfr/orarge (o F*'iq;Y{r6/Noneof these

12. f6q1 $'Elr iFr sr{-drEr ws rrq t f{q arq *i ffi qE { qrRf{d. t'qc|r qfr Em 4-t'
Heai istransrnitted from higherto lorvertemperature through aciual mass motion of the molecules in :

The centra! point of the surface of the-mirror is known as """""""".' '

1a) rr;nwr/Focus

(c) f*dRadius

r-([) ft'a/Psls
(d) F+st\di r6/t*one of these

16. rr*z d u-gF ffiq vcn.n * Etf,{ 6r qFI qsr tz
What is the name of the fuel specially used in rockets ?

. (a) ;}qfi/Prdpdlant

(c) *cr/Solar

17. q*'<ra-+ sre ercd qfr ol rar t

(a) vP
(c) 4v

Wfr 41 rkra q{ nrerc+ tq wr * u

\Mrat isthe escape velocity from the earth's surface ?

p1 ffiuk/Specialoil
(q fld i ati +fr/ltone of these

' (b) ?l
(q E{q'ri qt{ q-frlxone of these

(b) 12.2 ffir$s-s/1 2.2 km/sec

(d) F{i't+r{r$/ruoneof these .-

I qqF6s6 d 36s q'r qq V' * | qqT{ €qr{ qt qrqlq SSTI fi+ qt qqrq{qr d

+r:
A pendulum is undergoing simp|e hantonicmotion The velocity of the bo?,ll mean position is.v'. |f now its

"mpiituce 
isdoubled, teJping:length same, itsvelocity in mean position will be , I

18_

{a}

(ci
I l-2 f**r#o-s/11.2 km/sec

ro ffiitda-g/16 km/sec



19. ffig{mq}q1.eiffis-drffrt z

Which property do all bodies have while falling ?

(a) Xs-€ffids/Gravity
(c) qr€/SpeeO

vdr+ Es1 ErS 6'r crq qfrrei :

The lightest rnetalis

1a) eik+a/Na
(q tr*ftrcq/Ms

(a) 1(}Cw

(c) 40Or

Dyne/cm """.1':11""';"' *,tAftz* r ,' .

Dynelcm is the unit of .............r...,. .

(4 g*q irTte/Surface Tensioni'''

(c) qe/Force

(a) ar*fi ed/Hydrogen bomb

(c) qFm+t fifr+et/Nucl ear reactor

1U; erur/ncceleration
(O E{d t et$ =rfr/None of these

' 1o) friqqq/Li
(d) Eli t eti rd/ruone of these

'-(b) 25w
(O F{C t qt{ rd/ttone of these

,(o) 6r4/Wo* .
(CI Fdt-qt{ rd/tlone of these

(b) i+211+2
fOt r*,q's rrg rtT/Nlone of these

'l '

. (b) gi+er/Neutron bomb
(d) F{'i't mi =rfr/ruone of these

crq - lll
Part - lll

rrfirrd

MATHEMATICS

21. qs'i{ra mq fqq ct strsd * zzou-1od* r qR qo 110v q{ *'rd qrar d, d Essr vrF* qq rt'r :

An electric bulb is rated 220v-1 00w..lf it is operated at 1 10v, then power consumed by it will be :

" ffi,H'n$l,1X',Hffi # or a sp,, is

(a) el€crcvvoltmeter tol tt*ln-*Potenttometer
(c) Wdni*l Es1 qqi/A slide wfeb.tidg€t -*fd) Erdt ot€ r$/ruone of these

24. { yffiet srr{r: {d' stc qs d dc *} sq1a61 { =is-r *i t-t sffiq.sT vq}fi """"""""',' e{ei t r

Two resistances 1 ohm and 2 ohm are connected in parallel. Thegquivalent resistance of the combination

25. lrftq+tq frfi frqr *fr t ,

Nuclear fusion occurs in ................... . .:,

rrfrfqosg'i; (15 x 4 = 60 eq/Marks)
Choose the correct answer :

26. RF rgegt q.t rrqr eTri s-qTq sT 3r3crd 5 . 7 E 3TR Fs5'r sdrzr?l"I 550 cm. 6, dT E$ST rr;q gn E-t :

The radius and height of a cylinder are in the ratio 5 : 7 and its volume is 550 cm3. Find its radius :

27. g+d{qx2-5x +6 = 0 ehx'-6x+ 8 = g $srgfusq.eqwrer,}:
Thecommon root of the equation x2-5x + 6 = 0 and x2-6x + 8 = 0 is

1at : *.S.ls cm
r (c) 5 trfr./s cm

x+3
x+4

1n; a i.rfr.l+ cm

1Q o C.S./6 cm

x-2
x+5

(b)

(o
(a)

(c)
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. r-* + + sssdstq 6'r dHq( flrdrn ?

28 F -TY* #;:lm 3 l.Tf,m *i5'$#' i i'11';ll' 
'nJn' 

*i" "'"a 
or the rhombus

The Perimeter ot

0) 225 m'?

iO oa t ati q€t/t'tone of these

. (c)'336 cm'z

2e s€ qd *, 1T A*m#.'..:tm':'''" ii*,"meterof (b) 65m

.,a-?om \\ iOoatet{rfrlttoneofthese
(c) 75m \ 

)

30. \r{ q€ srqq + f{noi oo $t *+i q1fffi#i,! "* 
i"oo,inin has 44 diagonals \he 

numoe

(b) 1q 
.

(a) e \,r iO 5{d$dgqfrlNoneof 
these 

'
.. (e)- 11 \\i

., 
fr.H,ffi 1 ffi "H,S"T$ffi 

ffiffi'qtrSJ" *"' i ncrease ?

.,tH;:::"ffiffi".":
A bicycle is purchased at'Rs' 890f- t *'l "'-'Ol 

n, fO+l

(4 Rs' 896/-

(O Rs.788/- r..\ '

s3. 44s6r 7oolo qr tz , \ . 
t

" fu!",',rirre zov" or 44e? 
I), ,E. . ' 

,

'. (a)'it+.g (O 339'3

(c)' '349'3 \

34. 6f, q-i : 8 x 6(2131.1/9)^. 2.3=? \
-' 

ix6(2/' - iibj *as--z , .o) 3s

(a) 42 r (O lnq't ati =rd/None of these

(c)43i41frdlq.tqrfrdsqnrqrqkfi*rggqsrqqaTq6l
ss. d qii, ffi{ t eg* or-ur+ct o+ t'fr'' t' t rtetq qo+t 

f the resulting cuboid i

Ydq qtdw-e qrqq +1Fqi r 
' -re ioineti end to end' Find the surfacq area' o1

i cuues each oi volume 64 cm" a 
(b) 

, 
192 cm2 ,

{a) 160cm'? : iO Edtdt{qfi/Noneofthese
" i; 224cm2 +srqrqseq-qri *rYd tol'

36' w *,qt 41 
"Fr-{- 'q 

* l$l* 
ti{ s'q'ti s *' t r qnt at -Ar*'t * rs d'fr' 

'

yn fr. +t<t d d €( eTd* 
t .,,^1.r9, 

5 mtrbreadth and 5mtrheightwith paper75cms

Find the "i "' 
Otp"iing the watls of a room 10 mtr' lol

*ioegRs'10permtr' ..,,-,0', *r.rooo
(a) Rs.10o0 : 

-'ial Rs' 3500

ii) nt' sooo '

12

13,

14. t
't

'.-.

rs. <{
Th

(e.

(q

tG- rt+,
Whi

' (a)

(c)

17. qq's
ritl :
Apefr
amSil

(a) r-
{c) r'

ra. 1q141
What is

-(4il,
{c) 16
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37. (Cos 70" Cos 40. + gin 79. Sin 40") sT TFq m * ?The value of (cos 70" cos +o;.* Jii il.l",n 40") is(q laz

ic) Gos 80.

40. (25t81)z qrr qn ddreil :

Find the vatue of (25181) J :

(b) 1

* 
$ r * 

r*r *, d +* 4 * ic-s * :o eL +1 qft lt*, *ll tu * r-* qrq :0" t a* a, ffi rrqq

#] 1-?ilfl'^"in',[J:f;t"i:"#"",'i'm 
a poinr on rhe sround, which is ,o;;, rrom rhe root or*rer+i s0.,,6 

| a t2 &) 1s m(c) i5,\6. ,/ 'v rrr

.r S 3yo efrffifllnE*r:0.u. ei,d:*":K**,!rsimpre inreresr is Rs. 36 @;;#";;#jfl"T,y^T:
(a) Rs. +oo nnum and time is 3 years, then find the principaf 

?(c) Rs.60o o) Rs. SOO

(d) F{'i'* qt$ l6t/rvofife of rhese

t!$l F !
7,t*. 

ai, .'"t,
'.(b) Slg t.*

(d) 2s/g r ?
\.

tTm- U
PartjV

, rsr*' ffirq
cpenastnv I

(a) 9t2s
(c) 9/s

"rt- el; \3

I

ti
';

"-€rITq.R'G--Choose the iorrect answer : (10 x q, = +0 sr+/aaa;i
+t' c{'clwri i 

rHH- ^._...-...r.., 
+dr *, ii y€-s} sTrt+dq +rd f I

. *, **-*i,l','"**il';il:1" ' ':,(c) 4ffi4isqr/ruumuer;fi;*.;^' .(b) c{crg EqsrT/Atomic masst 
#m,Tm*conr6urar.".........:.... - - *? 

tot
configuration of n:_butane is :

(a) 5{s/skewec
€*rT€q'eTdlstaggered oranti (b) <6*7=dipsed

43 qa r"€-d * 
" *j;;; ,-'ih * :1..* l 

sti rd/None or rhese
A crysraf which is hard and;;; h,r; ib,* poinr is
#) fw-v+e)/covatenr
(c) (qrfu*l/rvletalric \y(s+tz+fu*)fionic

++. ffi qT{vi'rq qr qsts{ s.R-s. ................-.. }The compressibility factor for an ideaf n"J,"t ... I .(a) 1.s

.H'-o

e

he

trrs

v.nh,J- cJl )4 .r*fu

tes.



45. lrFrn * f*-s oer e}-r * *oqro * wq qr+ !h1 yrkddr tit* * :'
In which orbitar region is the probabiritv rol. iinoing.;';;; ii., nu"r"r, finite :.4
ttaf rc

(c) 2s (b) 2P
(d) 3d

40. fuq. eTrwr{s $T {sr.irgr ................... * r

Zinc oxide is called {-/
Vef1@ qn/phitosophef s wool

(c) zr{ar !trfr-€/Tartar emetic
\

a7. nvpqpaqt q+filT tdqd d (t) to-€ f{vnr r#o t z

In a chemicat equation what does the symbot (i) siEniry !I
- {a) *q q**rn/Gas state ,. (b) 39 er+*m/Liquid State

(c) $q €r*€ert/gorid state . , (ol t*-ere erq{eTr/cofioidar state
+4. dnr+ B, c, N, F eTh si **r qg qR.? d s€€Tt*rfi *q q*c_*' t z

considering the elements B, c, N, F and si, tne 
Srrect oi'der of their non-metallic character is :

(b) E"sq vredEpsom satt
(O *qrtqlcobargas

50. sil'r gflri * qd { e't+.* nq rqh d eri qrd * z
Which gas is used in extinguishing fire ?

CO,

OK

\\

roi'* *t$,o-OlNone of these

l'

tfl.(b)

(d)

'_ (a)

(c)

t-
t---


